$$u_{tt} = u_{xx} \text{ for } x \in \mathbb{R} \text{ and } t > 0 \text{ where } \begin{cases} u(x,0) = e^{-x}, & x \in \mathbb{R} \\ u_t(x,0) = 0, & x \in \mathbb{R}. \end{cases}$$

$$\oint(x) = O$$

$$B_y \quad d'Alemberts \quad formula$$

$$u(x,t) = \frac{1}{2} \oint(x+t) + \frac{1}{2} \oint(x-t) + \int ody$$

$$= \frac{1}{2} e^{-x-t} + \frac{1}{2} e^{-x+t}$$

$$for \quad x \in \mathbb{R}, t > 0.$$

(b) (10 points) Solve

 $u_{tt} = u_{xx}, \text{ for } x > 0 \text{ and } t > 0 \begin{cases} u(0, t) = 0, & t > 0 \\ u(x, 0) = e^{-x}, & x > 0 \\ u_t(x, 0) = 0, & x > 0. \end{cases}$ $\mathcal{\Psi}(x) = \mathcal{O}$ By d'Alembert's formula $u(x, t) = \frac{1}{2} \mathcal{\Phi}(x+t) - \frac{1}{2} \mathcal{\Phi}(t-x) + \int_{0}^{x+t} \frac{1}{2} \frac{1}{2} e^{-x-t} - \frac{1}{2} e^{-t+x} for \quad x \in (0, t) \\ = \frac{1}{2} e^{-x-t} - \frac{1}{2} e^{-t+x} for \quad x \in (0, t) \end{cases}$ and $u(x, t) = \frac{1}{2} \mathcal{\Phi}(x+t) + \frac{1}{2} \mathcal{\Phi}(x-t) + \int_{0}^{x+t} \frac{1}{2} e^{-x-t} - \frac{1}{2} e^{-x+t} for \quad x \in (0, t) \end{cases}$ (c) (15 points) Suppose $u: \mathbf{R}^2 \to \mathbf{R}$ is C^2 . Find the general solution of

 $u_{tt} + u_{xt} - 12u_{xx} = 0$

and show it satisfies the PDE.

Here $\chi_{\{u\}} = \partial_{\mu}u + \partial_{\mu}u - 12\partial_{\mu}u$ and by Clairant's Thm, = 2 + + + + + + + + + + - 32 - u - 122 - u $= (\partial_{1} + 4\partial_{2})(\partial_{2} - 3\partial_{2})u = 0$ Then $(\partial_{t}+4\partial_{x})u=0$ or $(\partial_{t}-3\partial_{x})u=0$ are transport equations where f(x-4t) and g(x+3t) form the general solution. Thus u(x,t) = f(x-4t) + g(x+3t)is the general solution where fig E C²(IR). Note: $\begin{array}{c|c} u_{tt} & 16f''(x+4t) + 9g''(x-3t) \\ + u_{xt} & -4f''(x+4t) + 3g''(x-3t) \\ -12u_{xx} & -12f''(x+4t) - 12g''(x-3t) \end{array}$

2. Consider the equation

$$(y+u)u_x + yu_y = x - y$$

where $u: \mathbf{R}^2 \to \mathbf{R}$ is C^1 .

(a) (10 points) Given the initial data

$$u(x,1) = 1 + x$$

find the characteristics.

Our system of ODEs is

$$x_{\tau} = 4 + u \times (s, o) = s$$

$$4\tau = 4 + u(s, o) = 1$$

$$u_{\tau} = x - 4 + u(s, o) = 1 + s$$
Now

$$x_{\tau\tau} = 4\tau + u_{\tau} = 4 + x - 4 = x$$
and so

$$x(s, \tau) = a(s)e^{\tau} + b(s)e^{\tau}$$

$$x(s, o) = a + b = s$$

$$x_{\tau}(s, o) = 4(s, o) + u(s, o), \text{ from the system}$$

$$= 2 + s$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ from the general solh}$$

$$= a - b, \text{ for a from the general solh}$$

(b) (10 points) Given the initial data

$$u(x,1) = 1 + x$$

find the explicit solution for u or explain why none can exist.

From above,

$$u_{T} = se^{T} - e^{-T} \Rightarrow u(s,T) = se^{T} + e^{-T}$$
Solving for s and T yields

$$x = (1+s)y - 1/y \Rightarrow s = \frac{x+1/y}{4} - 1 = \frac{x}{4} + \frac{1}{4}z - 1$$
and

$$y = h(T).$$
Hence

$$u(x,y) = \left(\frac{x}{4} + \frac{1}{4}z - 1\right)4 + \frac{1}{4}y$$

$$= x - 4 + \frac{2}{4}.$$

(c) (5 points) Give an example of a connected curve C in \mathbb{R}^2 such that the PDE with prescribed data on that curve cannot be solved.

Choose C to be a characteristic, let
$$s=0$$
,
 $\{(x,y) \mid X = (1+0)y - \frac{1}{y}\}$

or a curve that never intersects a characteristic.

3. (20 points) Show that for

$$u = f\left(\frac{x}{t}\right)$$

to be a nonconstant solution of

$$u_t + a(u)u_x = 0$$

then f must be the inverse function of a.

Idea : Play in u(2,t) = f(2) into the equation and we their Rile appropriately.
U_x(2,t) = 3π(f(2)) = t · f'(2) (Goin Rich).
U_x(2,t) = 3π(f(2)) = -7π · f'(1) (...).
Now, if you plug them into the given equation U_t + a(U)U_x = 0, you get

$$-\frac{7}{42}f'(\frac{7}{4}) + a(f(\frac{3}{4})) · t f'(\frac{7}{4}) = 0.$$
We can rewrite this as

$$-(\frac{7}{4} - a(f(2))) · t f'(\frac{7}{4}) = 0.$$
So, there are two axes : f(2)=0 OR a(f(2))) · t f'(\frac{7}{4}) = 0.
So, there are two axes : f(2)=0 OR a(f(2)) = 7.
Nower, this holds
for any real numbers X b t · So, we can see what happens at X = ht where
 $f(h)=0$ OR a(f(1))=h.
Put, in fact, if the product of two continuous functions is 0, then
one of them shalls be the zoro function.
In this problem, two functions
U is not constant which implies that f'(h) is not containty 0. Nerve a(f(h))-h=0.
Theoche, f is the invoice function of a.
4 Th is necessary to check that a(f(h))=h for all here.

4. In lecture we proved the following:

Theorem: Suppose that u_1 and u_2 solve the IVP $u_{tt} = c^2 u_{xx}$ with displacement functions ϕ_1 and ϕ_2 and velocity functions ψ_1 and ψ_2 respectively.

Then

$$\|\phi_1 - \phi_2\|_{\infty} < \epsilon$$
 and $\|\psi_1 - \psi_2\|_{\infty} < \epsilon \Rightarrow \|u_1 - u_2\|_{\infty} < (1+t)\epsilon$

for t > 0.

(a) (5 points) State a similar result for the PDE

$$u_{tt} = c^2 u_{xx} + f(x, t).$$

Theorem (Continuous Dependence on Data) Suppose that u_1 and u_2 solve the IVP

$$u_{tt} = c^2 u_{xx} + f(x,t)$$

with displacement functions ϕ_1 and ϕ_2 , velocity functions ψ_1 and ψ_2 , and forcing terms f_1 and f_2 respectively.

If

$$\|\phi_1 - \phi_2\|_{\infty}, \|\psi_1 - \psi_2\|_{\infty}, \text{ and } \|f_1 - f_2\|_{\infty}$$

are bounded by ϵ then

for
$$t > 0$$
.
 $\|u_1 - u_2\|_{\infty} < \left(1 + t + \frac{t^2}{2}\right)\epsilon$
 $1 - this is \frac{1}{2}t^2$ not t^2
if you did not make a mistake on writing
the Duhamel solution.

(b) (15 points) Prove your result for (a) for
$$c = 1$$
.
Idea: Use Diracd Schern and Singly band the difference using maximum when.
(4, (n,k) = $\frac{1}{2} \left[\phi(tx(k) + \phi(n-k)) + \frac{1}{2k} \int_{1-k}^{n+k} f(abk) + \frac{1}{2k} \int_{0}^{k} \int_{1-k}^{k} f(abk) + \frac{1}{2k} \int_{0}^{k} \int_{1-k}^{k} f(abk) + \frac{1}{2k} \int_{0}^{k} \int_{1-k}^{k} f(abk) + \frac{1}{2k} \int_{0}^{1-k} \int_{1-k}^{k-k} \int_{0}^{k-k} f(abk) + \frac{1}{2k} \int_{0}^{1-k} \int_{1-k}^{k-k} \int_{0}^{k-k} f(abk) + \frac{1}{2k} \int_{0}^{1-k} \int_{1-k}^{k-k} f(abk) + \frac{1}{2k} \int_{0}^{k-k} f(abk) + \frac{1}{2k} \int_{0}^{k-k}$